
Защита картера

JUKE 2014 -  

Шайба 8

2

СПИСОК ДЕТАЛЕЙ

Болт  M8x16

Болт  M8x20

Закладная 

4Washer 8

2Bolt  M8x16

Bolt  M8x20

Threaded insert

Nut plate 

999F15UBPS00
999F15AL00

Закладная  

4






